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A ©A) ©A)
< Fi9fE=46 > < Fi9fE =458 > < FifE=a >
DEFEEAB
1TA—60A 61 A—200A 201 A—500A
[5:47.5% m5:48.7% [5:28.4%
(28A) (146 A) (319A)
4:33.9% 4:45.3% 4:54.7%
(20A) (136 A) (614A)
3:11.9% o337% 03:126%
7N (11A) (1414)
D268% o2:1.7% 0233%
(a4A) (5A) B7A)
oL1:0.0% @1:03% @L1%
(0A) (1A) (12A)
[0:0.0% [0:03% [0:0.0%
[(2N] (QA) (OA)
< Fi9fE=4.22 > < FigfE =441 > < Fi9fE=4.06 >
0 .
VA Y B Nl B Ve -5 Y
1TA—60A 61A—200A 201 A—500A 501 A—
[5:69.3% W5:56.3% m5:39.3% W5:50.0%
(133A) (asA) (22A) (20A)
04:23.4% B4:35.0% B4:30.4% 04:40.0%
(as\) (28M) 17A) (16.A)
o3:4.7% 363% o321.4% 3:5.0%
©OA) (5A) (12A) @A)
0205% 2:25% o236% 2:25%
@A) 2A) @A) (1A)
o121% 100% 15.4% 125%
(@A) (OA) (BA) (A
[0:0.0% @0:0.0% @0:0.0% @0:0.0%
©A) ©A) ©A) ©A)
< Figfl=457 > < Fifl=4a.45 > < Fifl=3.95 > < Fifl=433 >
0 B
7a-N Vg SUE R A
1TA—60A 61 A—200A 201 A—500A
553.2% 5348% 5:156%
(781) (16A) (5A)
[4:37.4% [4:45.7% [4:50.0%
(524) (21A) (16A)
o3:7.2% 03:10.9% [3:25.0%
(104) (5A) (8A)
02:2.2% 02:4.3% 02:3.1%
(3A) 2A) (A
1:00% 122% 163%
(0A) (A 2A)
0:0.0% 0:22% 0:0.0%
(2] [E2N] OA)

< Fif=a.42 > < FfE=4.09 > < Fif =3.66 >




[005]CDFREDEEBOARRAITHMOTNTTM?

5=m<E585, 4=%F583,

B=EBLELNARLY, 2=F53BbAL, 1=2<E38bEN,

O=E&ETEXL,

@5396%
(11290)
[4:46.9%
(13380)
[@3:10.1%
(287A)
02:2.4%
(68A)
@1:0.9%
25A)
m00.2%
(6A)
< FigfE=4.22 >
BR- AMFERME
1TA—60A 61A—200A 201 A—500A 501 A—
m5:41.4% m5:53.8% m5:32.0% |5:25.0%
(124) @3A) ®A) (12A)
4:37.9% 04:363% 4:40.0% 4:563%
(11A) (290) (10A) @7A0)
3:17.2% 03:10.0% 03:16.0% o3:14.6%
[N} ®A) [:2N)
02:3.4% 02:0.0% 02:2.1%
ar) ©A) ar)
@1:0.0% @1:0.0% @12.1%
(0A) (0A) ar)
30:0.0% 20:0.0% 20:0.0%
(2] oA oA
< Fi9fE=4.17 > < Fi9fE =444 > < Fi9fE=3.84 > < FifE=a >
FrUPHEEERE
201 A—500A
5:25.0%
(A
[475.0%
BA)
3:00%
(OA)
0200%
(OA)
1:0.0%
[0:0.0%
OA)
< Fi9fE=4.25 >
REFEERE (RER)
1TA—60A
[5:66.7%
(50A)
04:25.3%
(194)
3:4.0%
(BA)
o213%
[E%N]
1:00%
(OA)
mo:2.7%
2A)
< Figf=4a62 >
REFERE @EER)
61A—200A 201 A—500A 501 A—
5529% m5524% 538.2%
(54.A) (210A) (26A)
[4:382% 04:40.6% [4:29.4%
(39A) (163A) (20A)
[3:5.9% o3:4.5% [3:23.5%
(6A) (18A) (16A)
02:2.0% 02:2.0% 02:4.4%
@A) 8A) BA)
1:1.0% o105% 100%
(A @A) (0A)
0:0.0% m00.0% 0:4.4%
(OA) ©A) BA)

< Fi9fE=4.4 >

< Fi9fE=a.42 >

< FifEi =4.06 >




[005]CDFREDEEBOARRAITHMOTNTTM?

S=MC(TIB3, 4=T3B3. B=EBBLLLALL, 2=T3BbHL,  1=2<T3BbHL.  O=EETELL,
AXHEFREAB (EFP)
1TA—60A 61A—200A 201 A—500A
m5:28.6% m5:44.7% m5:24.2% m5:37.5%
2A) (17A) (15A) (OA)
4:28.6% 4:50.0% 4:43.5% 4:50.0%
@A) (19A) @7A) 12A)
03:28.6% 23:5.3% 03:21.0% o3:8.3%
2A) 2A) A) @A)
02:0.0% 02:0.0% 02:9.7% 02:4.2%
(0A) [(2N] (6A) (1A)
@1:0.0% @1:0.0% o1:1.6% 21:0.0%
(0A) (0A) (1A) (0A)
00:143% 0:0.0% 0:0.0% 0:0.0%
[E2N] oA oA oA
< FfE=4 > < FfE=439 > < FfE=3.79 > < FfE=421 >
RFEBERELV4—NE
1TA—60A 61A—200A 201 A—500A
@5:56.2% @5:46.1% m5:52.3%
(2230) (298A) (271A)
@4:37.0% @4:41.0% @4:40.3%
(1470) (265A) (209A)
o3:55% 0393% o35.0%
(220) (60A) (26A)
02:13% 02:2.2% 02:1.7%
(5A) (184) [E2N)
@L1:0.0% @L14% @1:0.4%
©A) [N @h)
20:0.0% 20:0.0% 20:0.2%
[L2N] [L2N] [E2N]

< Fi9fE=4.48 >

< FifE=4.28 >

< Fi9fE=4.43 >




[005]CDFREDEEBOARRAITHMOTNTTM?

5=m<E53, 4=F583, I=ELLEBLLAEL, 1=2<ZE3BhEL,

2=F5B DML,

O=E&ETEXL,

EMRHHE

@5:64.8%
(386.0)
4:27.2%
(162A)
@3:54%
(32A)
02:13%
B8A)
oL112%
7A)
@0:0.2%
ar

< Fif =453 >

BFE- BFXit&wE5—F B

m5:67.6%
(3284)
4:25.4%
(1234)
@3:43%
(21A)
o2:1.4%
(2]
@1:1.0%
(5A)
@0:0.2%
[E2N]

< FfEi=4.57 >

TR-NVEE vV I-FLE

B5:43.0%
(38A)
4:43.0%
(38A)
@3:11.4%
[E2N]
02:1.3%
A
o1:1.3%
(A
0:00%
oA

< Ff=4.25 >

X HREEA

B5733%
(220)
4:16.7%
(5A)
3:6.7%
@A)
02:0.0%
[(2N]
@1:3.3%
(1A
0:00%
oA

< Ff=4.57 >

AR—v R EMERE R

@5:100.0%
@A)

@4:0.0%
0A)

@3:0.0%
(OA)

02:00%
(OA)

@100%
(OA)

@0:00%
oA

< FfE=5 >

YR-N R8T -ATRRERE

< FifE=5 >

B5:1000%
(A
B4:0.0%
(0A)
83:0.0%
(OA)
02:0.0%
(OA)
@L0.0%
(OA)
80:0.0%
oA




[006]CDEETHEMNLGEBE~NDERERSLELEN?

5=<E53B5, 4=%F53B5, B=ELLLBVALL. 2=F3BbhAL. 1=2<{Z53BbAL, O=EETELL,

o

£FHHAE

1TA—60A 61A—200A 201 A—500A 501 A—
@536.4% @5309% @5265% @5253%
(1697A) (5114) (11114) (924)
m4:43.4% m4:42.9% m4:41.6% 04:39.0%
(2023A) (7110) (17431) (142.0)
[3:14.6% @3:17.0% [3:209% 3:23.9%
(682) (281) (875A) (87A)
02:3.6% 02:6.6% 02:7.6% 02:6.0%
(170A) (110A) (317A) (22)
o1:1.8% @1:2.5% @13.1% o15.2%
(85A) (a2.0) (1284) (194)
m00.2% m00.1% m00.3% m005%
©OA) @A) a3A) QA)
< FifE=4.09 > < FfE=3.93 > < FifE=3.81 > < FfE=373 >
XFHHA
1TA—60A 61A—200A 201 A—500A
m5:34.7% m5:18.3% m5:18.9%
(334) (190) (B70)
@4:41.1% @4:50.0% o4:34.7%
(390) (520) (680)
o3:14.7% 3:221% o3:235%
(184) (23A) (a6.A\)
02:7.4% 02:4.8% o2:12.2%
7A) (5A) (24A)
oL21% o1:4.8% 1:92%
2A) (5A) (18A)
30:0.0% 20:0.0% 20:1.5%
A ©A) BA)
< FifE=3.99 > < FfE=372 > < Pt =342 >
#HaPHEE
1TA—60A 61 A—200A 201 A—500A
5:34.9% 5335% m5248%
(61A) (57M) (76.0)
4:44.0% [4:40.0% [4:44.4%
(770) (68N) (136 A)
03:14.9% 3:17.1% o3:225%
(264) (290) (69A)
02:29% 025.9% 026.9%
(5A) (10A) 214
o13.4% 135% @1:07%
(6A) ©A) N
[0:0.0% [0:0.0% [0:0.7%
©A) ©A) [N}
< FifE=4.04 > < FifE=3.94 > < FfE =387 >
s
EFHHE
1TA—60A 61A—200A 201 A—500A 501 A—
m5:34.8% m5:37.9% m5:33.6% m5:23.0%
(136.A) (11A) (337.0) (32A)
04:47.8% 04:44.8% 04:38.6% B4:39.6%
(1870) (13A0) (388A) (55M)
3:13.0% 03:103% 03:19.8% 03:201%
(51A) (BA) (199.A) (28M)
02:28% 0200% o257% 027.9%
A ©A) (570 11A)
o113% 0169% 0120% 186%
A @A) (20A) (12A)
[0:03% [0:0.0% [0:03% 0:0.7%
[EON] ©A) GA) ar)
< Figf=412 > < Fifl=4.07 > < Fifl=3.96 > < Figfl=3.61 >
BEFBEE
1TA—60A 61 A—200A 201 A—500A 501 A—
5:385% 5:00% 5:200% 5:188%
[N} ©A) (19A) BA)
[4:61.5% [4:66.7% [4:40.0% [4:62.5%
(8A) (aA) (38A) (10A)
03:0.0% 03:16.7% 03:25.3% 03:18.8%
[ON] an) (240) BA)
02:0.0% 02:0.0% 02:7.4% 02:0.0%
(0A) (0A) (7A) (0A)
@1:0.0% o1:16.7% o1:7.4% @1:0.0%
(0A) (A (7A) (0A)
0:0.0% 0:0.0% 0:0.0% 0:0.0%
(2] (OA) (OA) (OA)
< Fi9fE=3.33 > < FfE=3.58 > < FifE=a >

< Fif =438 >




[006]_DIRETHEIMLFEBNDEBHRERSIFELIM?
S=H(EE5, 4=T383. I=BLLLLABL, 2=T3BbAL,  1=2¢E3BbAL,  0=EETEAL,

SUEIRERFERELIE

1TA—60A 61A—200A 201 A—500A 501 A—
5:29.8% 5:18.2% B5236% 5:138%
a7A) ©A) (69) @A)
4:29.8% [4:48.5% 4:35.6% @4:31.0%
(A7A) (16A) (104.4) (OA)
03:29.8% @3:12.1% 3:22.9% [3:41.4%
(17A) (L3N] (67.0) (12A)
02:8.8% 02:21.2% 02:103% 02:6.9%
(5A) (7A) (B0A) @A)
o1:1.8% @1:0.0% o17.5% o1:6.9%
aA) ©A) 224) @A)
0:0.0% 0:0.0% m00.0% 0:0.0%
A ©A) ©OA) ©A)
< FifE=3.77 > < Pl =364 > < FfE=3.58 > < FifE=3.38 >
AR—YRER PR B
1TA—60A 61A—200A 201 A—500A
@559.7% 5:60.0% 534.2%
(105A) (120) (250)
04:26.7% 4:30.0% 4:35.6%
(a7A) (6A) (26A)
03:9.1% 35.0% 03:19.2%
(16A) [EPN] (18A)
02:2.8% 02:5.0% 02:4.1%
(5A) (1A) (BA)
@L1% 1:0.0% o1:68%
@A) (OA) (5A)
00:0.6% 20:0.0% 20:0.0%
ar) ©A) ©A)
< FifE=4.42 > < FifE=4.45 > < FifiE=3.86 >
DEFEEAB
1TA—60A 61 A—200A 201 A—500A
5:35.0% m526.2% m516.7%
(21A) (790) (187A)
4:53.3% [4:44.9% [4:44.4%
(324) (1354) (497A)
3:6.7% o3:21.9% 3:255%
[CN] (661) (2850)
25.0% 0266% 02:102%
(BA) (204) (114.4)
oL1:0.0% @1:03% @13.1%
(0A) (1A) (35A)
[0:0.0% [0:0.0% [0:0.1%
[(2N] (OA) (aA)
< FifE=418 > < FifE=3.9 > < FfE=361 >
0 .
VAV B SEl e Ve i 2R =
1TA—60A 61A—200A 201 A—500A 501 A—
@5:63.5% m5:32.9% m5:39.3% m5:35.0%
(1220) (26A) (22A) (14A)
04:28.1% B4:40.5% 04:26.8% B4:30.0%
(540) (320) (150) (120)
o3:4.7% 03:165% 3:17.9% o3:275%
©OA) a3A) (10A) [(E9N)
o2:16% 0289% 027.1% 2:5.0%
BA) (7A) (] @A)
o121% 113% 189% 125%
(@A) (1A) (5A) (A
[0:0.0% @0:0.0% @0:0.0% @0:0.0%
©A) ©A) ©A) ©A)
< Figfl=a.49 > < Fifl=3.95 > < Figfl=3.8 > < Figfl=3.9 >
0 B
7a-N Vg SUE R A
1TA—60A 61 A—200A 201 A—500A
5:36.7% 5217% 5:9.4%
(51A) (10A) (BA)
@4:38.1% [4:50.0% 04:40.6%
(53A) (23A) (13A)
@3:17.3% 03:19.6% @3:31.3%
(21) (OA) (10A)
02:5.8% 02:6.5% 02:9.4%
(8A) BA) BA)
1:22% 100% 1:9.4%
(BA) (0A) BA)
0:0.0% 0:22% 0:0.0%
(2] [E2N] OA)

< FfE=a.01 > < FifE=3.89 > < FifE=331 >




[006]CDEETHEMNLGEBE~NDERERSLELEN?

5=3<Z5E5. 4=%F53B5, 3=EBLEBVRAL, 2=F3BbAEL., 1=2LE53BbEL,  0O=EHEFTELL,

o

@5333%
(952)
4:45.2%
(12910)
3:15.8%
(453A)
02:3.6%
(104 \)
11.9%
(540)
m00.2%
A
< Ff=4.05 >
BR- AMFERME
1TA—60A 61A—200A 201 A—500A 501 A—
517.2% 5228% 5:200% 5:16.7%
(5A) (18A) (5A) ®A)
4:483% D4:46.8% 4:48.0% 4:39.6%
(141) (B70) (120) (190)
3:27.6% o3:27.8% 03:200% 327.1%
[N} 22A) 5A) 13A)
02:6.9% 02:13% 02:12.0% 02:10.4%
2A) (A (BA) (51)
@1:0.0% @113% @1:0.0% @1:4.2%
(0A) (A (0A) [c28)
30:0.0% 20:0.0% 20:0.0% 20:2.1%
(2] oA oA [E2N]
< FifE=3.76 > < FifE=3.89 > < FifE=3.76 > < FfE =355 >
FrUPHEEERE
201 A—500A
5:25.0%
(A
[475.0%
BA)
3:00%
(OA)
0200%
(OA)
1:0.0%
(OA)
[0:0.0%
OA)
< FfE=4.25 >
REFEERE (RER)
1TA—60A
W5:64.0%
(481)
04:22.7%
A7A)
3:6.7%
(5A)
o227%
[2N]
o1:13%
(1A)
mo:2.7%
2A)
< Figfl=a.49 >
REFERE @EER)
61A—200A 201 A—500A 501 A—
5417% m538.2% 5324%
(43A) (1534) (22A)
04:42.7% [4:46.1% [4:41.2%
(a8.A) (1854) (28A)
@3:11.7% [3:11.0% [3:25.0%
(12A) (4a.0) (17A)
02:1.0% 02:3.2% 02:1.5%
@A) 13A) @A)
129% o11.0% 100%
BA) (] (0A)
0:0.0% m005% 0:0.0%
(OA) @A) OA)

< FfE=4.19 > < Ff=4.18 > < Fifi=4.04 >




[006]CDEETHEMNLGEBE~NDERERSLELEN?

5=m<E585, 4=%F583,

B=EBLLELVREL,

2=F5B DML,

1=2<Z53BhAL, O0=EFTELL,

AXHEFREAB (EFP)

1TA—60A 61A—200A 201 A—500A 501 A—
m5:14.3% m5:24.4% m5:19.0% m5:37.5%
[¢9N] (10A) (12A) (OA)
4:57.1% [4:48.8% [4:46.0% @4:37.5%
[N} (20A) (29A) ©A)
03:14.3% 03:12.2% 03:22.2% 03:12.5%
(A (5A) A) (BA)
02:0.0% 02:7.3% 02:11.1% 02:4.2%
(0A) BA) (7A) (1A)
@1:14.3% o1:7.3% o1:1.6% o1:8.3%
[E%N] BA) (1A) @A)
0:0.0% 0:00% 0:00% 0:00%
(2] oA oA oA
< FfE =357 > < FfE=3.76 > < FfE=37 > < FifE=3.92 >
RFEBERELV4—NE
1TA—60A 61A—200A 201 A—500A
m5:35.2% m5:34.1% m5:31.7%
(1400) (220A) (165A)
@4:46.0% @4:40.5% @4:44.0%
(1830) (261A) (229A)
D3:136% D3:144% 03:169%
(54A) (93A) (88A)
02:3.8% 02:8.1% 02:6.0%
(15A) (52A) (31A)
@L15% @1:2.9% @L12%
(6A) (19A) (6A)
20:0.0% 20:0.0% 20:0.4%
[L2N] [L2N] @A)

< FfE=41 >

< FflE=3.95 >

< Ff=3.99 >




[006]CDEETHEMNLGEBE~NDERERSLELEN?

5=m<E585, 4=%F583, 1=2<Z538b0IL,

B=EBLLELVREL,

2=F5B DML,

O=E&ETEXL,

EMRHHE

< Fif=4.29 >

B5:503%
(2990)
24:35.0%
(208A)
@3:91%
(54A)
o235%
21A)
oL18%
(11A)
20:03%
[e2N]

BFE- BFXit&wE5—F B

< Ff=432 >

B552.1%
(2520)
@4:34.1%
(165A)
@3:83%
(40.)
02:33%
(16A)
@1:1.9%
©A)
@0:0.4%
@A)

TR-NVEE vV I-FLE

< FifE=4 >

B5316%
(25A)
[4:45.6%
(36A)
@3:15.2%
(12A)
02:6.3%
(5A)
o1:1.3%
(A
0:00%
oA

X HREEA

< Fif=4.53 >

B5:700%
(21A)
[4:20.0%
(OS]
03:6.7%
[N]
02:0.0%
[(2N]
@1:3.3%
(1A
0:00%
oA

AR—v R EMERE R

< FfE=5 >

YR-N R8T -ATRRERE

< FifE=a >




[007)B 7= IXCDBEERELELI=H 2

5=REGL 4=1-2ARKE 3=3—-4ERFE 2=5-6ERE 1=7ELLERE
A
£FHHE
1TA—60A 61A—200A 201 A—500A 501 A—
[5:56.0% m5:54.3% [5:67.4% m5:75.8%
(2612A) (9001) (2816 1) 2750)
@4:35.7% @4:37.8% 04:27.6% @4:18.5%
(1666.A) (626.A) (11514) (674)
:7.6% @3:7.4% @3:4.4% @3:5.0%
(354A) (122.4) (184.0) (18A)
0206% 0203% 020.4% 0203%
(28A) 5A) azA) @A)
@1:01% @1:02% @1:0.2% @1:0.6%
70) BA) ©OA) ()
< it =4.47 > < T =4.46 > < FifE=4.62 > < T =4.69 >
o]
XEERE
1TA—60A 61A—200A 201 A—500A
5:52.1% 5:50.5% m5:71.6%
(490) (53A) (1414)
@4:35.1% @4:41.0% @4:23.4%
(33A) 430) [LIPN]
3:11.7% o386% o35.1%
(11A) (OA) (10A)
02:1.1% 02:0.0% 02:0.0%
(1A) (0A) 0A)
1:00% 100% o100%
(0A) (0A) (0A)
< FiYfi=4.38 > < FiYfE=4.42 > < T =4.66 >
Aith
#HaPHEE
1TA—60A 61 A—200A 201 A—500A
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